REGULATIONS PROMULGATED BY THE ASSEMBLY INSTRUCTIONS

CONSUMER PRODUCT SAFETY COMMISION

FOR THE TR 8510 TODDLER RAIL

(PLEASE REFER TO “ASSEMBLY INSTRUCTIONS FOR YOUR 8510 STATIONARY CRIB”)
If you don’t have your assembly manual anymore, you can download a copy
from the “Assembly manuals” section of our website www.rominafurniture.com
or request one at contact@rominafurniture.com.

WARNING: THE PROPER USE OF THIS CRIB IS
IMPORTANT FOR YOUR BABY'S SAFETY. TO KEEP

YOUR BABY SECURE AND SAFE,

AND TO AVOID POTENTIAL INJURY OR DEATH,

CAREFULLY READ AND FAMILIARIZE YOURSELF

WITH ALL WARNINGS, CAUTIONS AND
INSTRUCTIONS IN THE INSTRUCTION BOOKLET.

KEEP THIS INSTRUCTION BOOKLET FOR FUTURE

USE.

*ANY MATTRESS USED IN THIS CRIB MUST BE AT
LEAST 27 1/4 IN BY 51 5/8 IN BY 4 IN, WITH A
THICKNESS NOT EXCEEDING 6 IN.

*THE MINIMUM AGE OF YOUR CHILD SHALLNOT BE
LESS THAN 15 MONTHS AND THE MAXIMUM
WEIGHT SHALLNOT BE GREATER THAN 50LB.

IMPORTANT:
PLEASE, READ ALL INSTRUCTIONS BEFORE
) ASSEMBLING!
PLEASE, SAVE INSTRUCTIONS FOR FUTURE
”’
¢ l USE
. P
P = DO NOT THROW OUT THIS INSTRUCTION
; ! > BOOKLET.
B -
R

®

Romiha

Furniture
NOTE: THE STYLE OF YOUR CRIB OR OF YOUR 20 Corporation Row, Edison, NJ 08817

MATTRESS SUPPORT MAY VARY FROM WHAT IS Phone (718) 478 5100, Fax (718) 478 5117
PICTURED IN THE INSTRUCTION SHEET www.rominafurniture.com

11/



STEP 1TR (Two adults are required to complete this step)

Completely disassemble your crib (follow STEP 4 to STEP 1 from ASSEMBLY INSTRUCTIONS FOR YOUR 8510 STATIONARY CRIB).

For the toddler bed option of your crib you will need only one of the stationary sides so carefully store the remaining stationary side in a proper place, away from direct sunlight and
moisture, taking care not to scratch the wood finish.

STEP 2TR (Two adults are required to complete this step)

Using a Phillips screwdriver (not supplied) or just the hand, insert the screw-in dowel (2) into the lower threaded hole from the right side end panel as depicted in FIGURE 1 (please
see the assembly tip for dowel correct positioning)

Insert the cam fitting (3) into the inner face of the toddler rail (TR), taking care that the little arrow of the cam is pointing to the screw-in dowel (please see FIGURE 1).

Using one Allen bolt (#4), one washer (#8) and the supplied Allen wrench attach the toddler rail (TR) to the right side end panel (EP) then, using the same Allen wrench and moderate
force, slightly rotate the cam fitting (3) clockwise (see the cam’s rounded arrow) by about 90 deg to 120 deg until become tight. Do not over tight the cam! This is not a fixture
involved in your child safety.

STEP 3TR (Two adults are required to complete this step)

Follow STEP 1 to STEP 4 from ASSEMBLY INSTRUCTIONS FOR YOUR 8510 STATIONARY CRIB to re-assemble your crib.

Use only one of the fixed (stationary) sides described in STEP 1.

Use two Allen bolts (#4) and two washers (#8) to attach the toddler rail (TR) to the other end panel (EP) of the crib.

When you reach STEP 2 adjust the mattress support (MS) to its lowest position.

After completing STEP 3TR, your crib should look like the one depicted on the first page of this instruction booklet.

HARDWARE BOX CONTENT

( )
Please locate and confirm that
you have the following parts: Required tools: Allen wrench (supplied), Phillips
) screwdriver (not included), flat screwdriver (not
TR. toddler rail = 1 included).
o . CAUTION: Do not use a power screwdriver which
one bag of hardware containing the following: can cause screws to break or strip
1. Allen wrench =1
2. screw-in dowel = 1
%@j@ 3. cam fitting = 1 = | - D)
S 4. Allen bolt (50mm - 1 15/16") =3

Phillips screwdriver (not included)



FIGURE 1




"UOIJBJIO0|02SIP Ysiuly ploAe 0} Ajuanbauy uonisod s,ped Buibueyd 8y} 81ej04 0} papuUBILLIOISI
S|} "ysiuy a8y} abewep pue yym joeals ued jey} spusipalbul aaey sonseld uleps) yjeaudspun
}8) Jlige} B asn 0} ains ayew ‘salossadoe onse|d Jejwis 1o ped Buibueyo JAuin B Buisn usypp

‘Aj2413ud 11 JIBA0D JOU Op pue }l uo BuiylAue 3oe)s Jou op ‘s||em
0] 8S0]9 00} aJnjiuin} 8oe|d Jou 0 ‘PAMOo||e 8q P|NOYS aJnjiuin} 8y} Jopun pue punole MOoj} Iy “Soljje Joy
Jo syjuswaseq dwep ul )l buioe|d ploAe ‘ewi Jo pouad Aue o) 86el0)s ojul ainjiuiny JnoA ind 0} pesu NOA §|

"ysiuly ay) abewep |jIm JI Se ysiul 8y} Y3IMm 10B1U09 Ul AB}S 0} Jajem
MOJ|e J0U 0 "Y10|o Aup e yum Buidim Aq pamoj|o} Ajerelipawiwil Yoo dwep e asn ‘ainjiuiny ay} uesjo o|

"109)8p Ajljlenb e
8Q 0] pPaJapISuUOD Jou SI Yyoiym ssaoo.d Buibe jeinjeu ayy yiim Buoje awi} JOAO UsHJep ||IM S8OUSSSS POOM ||B
1By} 810U 8sea|d 'SS920.4d |einjeu Sy} 8)e1s[a29k ||IM JybIjuns j10alip 0} ainsodxa awl} J8AO Ajjeinjeu mo|jah
[IIM SBySsIul} SHYAA "YSIuly 8y} Ul SYOBIO aullliey asned Aew SaseO 1SOW Ul pue ysiul} 8y} JO SSauyjoows
pue Ja)sn| ayj 10aye ‘epe} 0] SJ0j0D asned ||IM SAel 18j01ARL N pue 1yBiuns 10811q "SJaiipiwny 1o siejesy
‘saoe|daul} ‘sjo|no Buluonipuoo-lie 0} 9S00 00] JO Juod) Ul pade|d aq Jou pjnoys ainjuiny ‘|esauab uj

"ysiuly sy} abewep Ajusuewlad
[|IM S|eua}eW 10 saoue)sqns Buluiejuoo JUBA|OS 10 [0YO]Y “J0j0ISIP JO 8}IYM uin} 0} YSIuly 8y} 8sned ued Aay)
‘aw} Jo pouad Buo| e 104 84njuINg 8Y} YIM JoBUO0D Ul AByS spinbijayjo Jo Jajem )| “Apdwold s|iids dn adipp

‘diem 0} poom 8y} pue [9ad 0} ysiuly ay}
Buisned ainjiuiny 8y} 0} |njwiey S 84n)SIoW dAISS80X T "J19ziodeA Jo Jayipiwny e Buisn usym uoined asn

jSeoelINS paysiulj 8yl 0Juo Ajjoalip Pjoo 00] JO J0Y 00] 8Je YdIym swia)l 8oejd Jou oq
"o, 0% — GE 10 Alpiwny aAne|al e pue Jlayualyed seaibap G/ pue Gg usamiad Ul paulejulew aq ainjeladwa)
WI00J 8y} Jey] papuswiwooal si ]| "abeyullys Jo uoisuedxs usppns poom 0] anp Aljenb ysiul ay) 108je
ueo ainesadwa) pue AJpiwny Se yons Suoljipuod [BJUSWIUOIIAUS JO SUONBLIEBA SWaljxe 0} 8insodxg

"USIul} 8} Ul UoIjelo]oosIp JuaAaid 0] pa)ejol/paAowl aq isnw
S90BLINS |BJUOZIIOY 8Y) OJuo paoe|d sway| "way) ,apI|s, Jou op ‘dn way) 3oid pue umop way) 18s skemje
‘@in)iuin} 8y ojuo swa)l BuiasLyal Jo Buioe|d usypa “ainjiuing InoA uo ysiuiy ay) ebewep Ajay| |[IM suopng Jo
sladdiz suesl ‘sapjonq1jaqg se yons sjoslgo piey/dieys yjim uonoeisiul [esiueydssu Jo Buiggn Jueisuo)

"gouBUSB)UIBW |NJBled Bullinbal sny) ainjiuing }Npe Uo pasn asoy) Uey) 8)edl|ap 810w
aq Aew saysiull 8say] ‘Aqeq JnoA 1o} 8jes ainyiuinj Siy) 8YewW 0) pasn ale saysiul} paseq-lajem |eloadg

"uBlIsap papusjul JIdY) YJIM 80UBPI0DE. Ul pasn aq Swa)l
aJnyuiny [|e 1ey) pepuswiwoal sl ‘adniuiny InoA Jo Aljeuonoun) pue soueleadde |eniul ay) aAlesaid o]

"aJe Ageq 1noA pue noA se anbiun pue |nynesq
SE Wa}l ainjiuin) BUILLOY YOoed 9)ew Saoualayip 8say] "ysiul 8y} ul SSauyol Jo suoleleA 10joo 1ybis
Ul Jjnsal |IM YdIym ainixa} pue ulelb Jo suoneueA jussald 0} Ajayl| SI [elalew [einjeu Aue ayl| ‘POOAA

Sdll F4VI FANLINYNS TVHINTO






Regular cleaning with mild soap on a soft cloth, followed by a clean damp
cloth, then a dry cloth, will preserve the original fuster and beauty of the
fine finish of your Romina Furniture product.

Thank you for being one of our distinguished clients.

®
Ol Team

furnitare

Visit
www.rominafurniture.com
for updates, special offers and more new designs.



